p 5 r/j? Exponentes negativos de 10

Nombre: Fecha: Puntuacién:
1071 = 372, 1+ 100" =
1072 = 195,5x 100D =
1079 = 296,4+107% =
1 x 107 = 1002 =
2x10° = 1003 =
898,3+ 1072 = 3% 1072 =
409 + 10* = 809, 5 x 107 =
33107 = 7% 10° =
486,6 x 10 = 9x10=
549, 4+ 100Y = 1 x 1009 =
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p 5 ﬁ} Exponentes negativos de 10

Nombre: Fecha: Puntuacion:
1000 =0.1 372, 1+ 100D =3721
1072 = 0.01 195,5x 10°) =19.55
107 = 0.0001 296, 4 + 107 = 2964000
~1x 1072 = —0.01 1072 = 0.01
2 x 10% = 200 107 = 0.001
898, 3 + 107 = 89830 3% 107 = —0.03
409 + 10* = 4.09 809, 5 x 1077 = 0.8095
3% 1007 = 0.003 7x10° =7
486, 6 x 107 = 0.4866 9% 10 =90
549, 4+ 10" = 5494000 1 x 107 = 0.0001
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